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A) Please show how the word �������  is derived.  

Weight's Grammar hints towards some kind of secondary formation. 

 

What exactly are secondary formations? 

 

B) Please give some examples from the Qurʾān. 

 

 

 
Question 
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Dear Br Asim Iqbal, 

<æÜÓé×Â<]<ÝøŠÖ     

    

    

(��)����   
    

    

    
 

ittaqā   is originally 
 

��
*(��)��  
 

 

 

 
 

iwtaqā.  
 
 

As a sākin wāw does not occur after kasrah,  

 

��
*(��)�� , 
 

 

 

it is changed to: 
 

 

 

 

 

 

��)
+(��)��  
 

 

 

iytaqā.  

 

Then the yāʾ is omitted,  

 

(��)��) �� 
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and the tāʾ  is doubled for compensation resulting in  

 

����(��)  
 

 

 

 

ittaqā.  

 
 

There is a principle in Arabic grammar called  1��� �2����3�� 4567�����8
��/  

which means that a secondary element is regarded as the original one, and 

new words are created on this assumption. 

 
 

E.g: in the word: 
 

 

 

 

 

 

)�9:;�7�� ,   the mīm is an extra formative element, and not one of the 

radicals.  
 

But treating it as a radical we create the verb: 
 

 

 

 

 �;�7���<��    meaning to follow a madhhab (a legal school). 
 

 

 

 

 

 

On the basis of this principle, the first tāʾ  in  ���(��)   

�
�(��)��)      (which is originally a wāw)  is treated as an  

original tāʾ, and the word   �������   is formed on the pattern of: 
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=�>. 
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Here is another example.   
 

The word   ����)���   is originally   �)�?������ .  
 
 
 
 
 

In the secondary form the first radical (hamzah) has changed to tāʾ under the 

influence of the second tāʾ which is a formative element.     
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�      ����)��))
��������)(  
 
 
 
 
 

On the assumption of its being the radical, a secondary unaugmented )@���A49 (

form    ����)�� ���)
��+�    is formed.  
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The word  
 
 

 
 
 
 
 

 � ��������)��) !    in sūrat al-Kahf (āyah 77), is  
 

 

 

 

 

� ��������)��) !     in the reading of ibn Kathīr and Abū ʿAmr. 
 
 
 
 

 

 

 

 

 

 

 

Another good example is   CD���)4�   (heritage) which is from  �D�E�*   (to 
inherit). 
 

 
You write Weight's Arabic Grammar. It seems to be a misprint for Wright. 
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